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Instructions :

1. The question paper is divided in five units. Each unit carries an internal
choice.

2. Attempt one question from each unit. Thus attempt five questions in all.

3. All questions carry equal marks.

4, Assume suitable data wherever necessary.

5. English version should be deemed to be correct in case of any anomaly in
translation.

6. Candidate should write his/her Roll Number at the prescribed space on the

question paper.
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@ I/(Unit 1)
1. (a) k-map @ ITART fafed |

Write the use of k-map.
)  frfafed g @ ga wifT o
Simplify the following expression :
(@) Xyz+xyz+xy
i) xXyz+Xxz+yz
31YdT/(Or)
2. = = W‘G‘ﬁ :
Explain the following :
(@)  Excess-3
b) Gray code
(c) Don’t care conditions
d) Error detection codes
ghe II/(Unit II)
3. SVl Hfed WHEATEA
Explain with example :
(@) Decimal to octal conversion
b) Complementary numbers

(c) Binary codes.
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31qA/(Or)

4, frdemar fr=fafea i scat

Convert the following as directed :
(@) 1100 — 1010

®) 11101 - 11011

(c) (1101.101), = C ),

(d) (1110100011010110), = ( ),
(e) (35.346), = (),

#  (ODF), = ( ),

@ (B4, = (),

h) (372, = ( ),

ghe III/(Unit III)

5. fehrer =1 % ? 9% THoIe 9 fRE YR @ ® ? BCD to decimal feshier =t
FHEYUTAr T U Hife |

What is decoder ? How does it differ from encoder ? Explain the working of

BCD of decimal decoder.
AYAT/(Or)

6. fm= = d&u 4 wHgmEd

Explain the following briefly :

(@) Full Adder

b) Parity Generator and Checkers

3Rt IV/(Unit IV)

7.  faf= wor & e e w wmEEd

Explain different types of shift registers.
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HAYAT/(Or)

8. = = gy .

Explain the following :
(a) AND and NOR gate latch
b) Combinational and Sequential logic circuits.
313 V/(Unit V)
9. 3T Programmable Tfoieh feamsd™ & #1 ¥Hs § 7 Sfod SO SR 99EY |

What do you understand by Programmable logic devices ? Explain with suitable

example.
{41/ (Or)
10. ™ = wmEEd
Explain the following :
(a) Variable-Resistor network;
b) Simultaneous and continuous conversion

() A/D counters.
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